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B.Com. Programme 1st Semester Examination, 2023

DSC1-COMMERCE
FINANCIAL ACCOUNTING

REVISED NEW SYLLABUS
Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.

GROUP-A / Tete-= / @ve-&

Answer any two questions 12x2 =24
forgi o1 wsii T STR
(I-(F }fﬁ?@f(.‘ﬂ? Ted wis
P GYICT TEehT IR feTeiN
1. The following Trial Balance was extracted from the books of Mr. Talapatra as on 12
31.3.23:
Particulars Amount Particulars Amount
Rs. Rs.

Plant & Machinery 90,000 | Capital Account 1,17,000
Furniture 2,000 | Sales 1,45,000
Purchases 70,000 | Return of goods 1,750
Return of goods sold 1,200 | Discount 800
Discount allowed 425 | Sundry Creditors 25,550
Sundry Debtors 50,000 | Provision for Doubtful Debts 700
Opening Stock 40,000
Salaries 7,000
Wages 12,000
Carriage outward 1,550
Rent & Taxes 5,000
Advertisement 2,500
Cash 9,125

2,90,800 2,90,800

Prepare Trading & P/L A/c for the year ended 31.3.23 and Balance Sheet as on
that date after taking the following adjustments:

(1) Closing stock was valued at Rs. 34,220.

(i) Provision for doubtful debts is to be kept at Rs. 900.

(i11) Depreciation on Plant & Machinery by 10% p.a.

(iv) Distribute goods worth Rs. 1,000 as free sample.
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2. X, Y and Z are partners sharing profit and loss as 2:2:1. They dissolve their firm
when their Balance Sheet stood as follows:
Liabilities Rs. Assets Rs.
Capital: Cash 10,000
X 82,000 | Sundry Assets 1,94,000
Y 52,000 | Z’s Capital 16,000
General Reserve | 30,000 | Profit & Loss Account 10,000
Creditors 66,000
2,30,000 2,30,000

Sundry Assets realised Rs. 1,80,000 and the creditors were discharged at a
discount of Rs. 4,000. The expenses of dissolution amounted to Rs. 2,000. Z was
declared insolvent and a find dividend of 50% was realised from private estate.
Show necessary accounts applying Garner vs Murray rule.

3. A consignment of 1,00,000 kg of tea costing Rs. 4 per kg is made on August 1st
2013 to an agent on a commission, of 5% on gross sales.
The following expenses are incurred:
(a) By consignor:
Freight- Rs. 2,000
Dock Charges- Rs. 800
(b) By Consignee:
Godown rent- Rs. 800
Misc. expenses- Rs. 1,400
Chests containing 2000 kg of tea were damaged in transit and the contents had to
be destroyed on landing. 70,000 kg of tea were sold at Rs. 6 per kg and on August
31st the balance of the consignment remained unsold.

Prepare Consignment Account and Consignee’s Account.

4. Write short notes on any three:
fopegl effr uR fere feoqult fors
@ @ oMo &= ke Bt =142
P diaer Biel fewfies oeTe,
(a) Going Concern Concept
T ISIH DT TR

BeTle gl 419l (Going Concern Concept)

(b) Situations when dissolution of partnership firm take place
SRAMIS G FoACE7-9F (Dissolution) “fEfowE =13
yRRerfress S AN fJee &

(c) Uses of Accounting Information
G ATHBRT BT IUIRT

IEXIEER LAV I (Accounting Information)-&93 IR fet =2
oRIT TFBRY (Accounting Information) T SUIRTES
(d) GAAP.
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(©)

(d)

(e)
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GROUP-B / [Tei-4 / @ve-g

Answer any four questions: 6x4 =24
feh=e1 =T 811 T IR |

-Gl b1F15 2w Tee wies

P+ FRECT THDT IR &%

From the following information prepare Branch Account in the books of the head 6

office assuming that all the sales at branch are on the cash basis:
Opening stock at the branch 30,000
Sales during the year %1,20,000
Goods sent to Branch 390,000
Expenses paid by Head office 314,000

Closing Stock could not be ascertained, but it is known that the branch usually
sells cost plus 20%. The Branch Manager is entitled to a commission of 10%
before charging such commission.

What do you mean by Dissolution of partnership firm? Discuss the reasons that 3+3
lead to dissolution of the firm?

ATRIERT ARAT & fIeeT F 3719 7 F9HI & 2 I DRI Bl T BN [Tch PRUT AT
o faere 8T 8 2
SR JN SR (Dissolution) IETCS & @I 9 SR PRt el 741
RATSIER HHERe! [TECT 9 & 81 ? HHeb! fAeIe T PRUEH BeTthel T8I |
Write a short note on: 3+3
<far feuguft ford —
R fERe DIl (<74
et e e
(1) Separate Entity Concept

Jefeh SehTg TR

/% SRCga el (Separate Entity Concept)

TG gohTs (entity) STTERUIT

(i1)) Money Measurement Concept.
G HIY AT |

wief 2/ 1715 4iFel (Money Measurement Concept) |
U997 A9 (measurement) 3TTERUT |

Describe the advantages of Accounting Standard. 6

NG HTFeh & AT T JUI v |

Accounting Standard-«3 FfRatefe 36q 1
TGN HFhE (standards) PBIEETE® BeTthel T8I |

What is contingent liability? Explain contingent liability with the help of two examples. 3+3

A RHD STRICT T & ? 3MThRHD STRICT Dl ST ISTEUN bl TSI H FHST |

Iy Wi (Contingent Liability) FICP 0T ¢ 6 SrIzgei2 ASI Wikl I 4|
3MepRHeD T (Contingent Liability) & &1 ? g3 SSTERUEwD! FERIdTel HhRHD
SR SR B |
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What do you mean by IFRS? Write few advantages of IFRS?
IFRS & 319 7 GH7 & ? IFRS &b 5 ol feffRav |

[FRS 3&Ce (& @RI 9 IFRS—7 g ARl Brare 41
IFRS & 8 ? [FRS @I HEl HIsaress oeda i |

GROUP-C / [F@tt-at / @us-T
Answer any four questions:
foheal g7V 3l T IR S |
-G BIA15 2t Ted wies
P FIRGCT THDT IR oI :

What do you mean by Accounting Equation?

G THIBRUT 3 37T FAT FHSI & 2

TR 539 (Accounting Equation) I6TCS 1% @RI 9
oRAT FHIGROT (Equation) e & & 2

What are the Debit note and Credit note?

Sfde e ud ‘e Al RATEIATE 2

Debit note €32 Credit note & ?

sficAe I HisT AT B 8l 2

Distinguish between Consignment and Ordinary Sale.
YU O TR fehg & &1 ek & |

Ordinary Sale €3 Consignment—<43 2N1<f (5141
PATSTHC X AR gt dTgep! =TT oe e |

What do you mean by Errors of Omission and Errors of Commission?

b D1 Tl Y&l BHIL bl FfSAT I JTULDT AT AR & 2

Errors of Omission €3¢ Errors of Commission J51(® & @It ?

Errors of omission ¥ Errors of commission 9=iTet & 958 © ?

Distinguish between Capital Receipts and Revenue Receipts.

ol SR e ST ey 2 e afer Y |

IEE ST (Capital Receipts) @3 581 S (Revenue Receipts)-a3 AL @14
Capital Receipts ¥ Revenue Receipts @I Sigen! f=ar ?Rs_:l;s'ﬁ:[ I

What do you mean by Accounting Cycle?

ORI T5h 3T FAT FHEH & ?

23 & (Accounting Cycle) F0® & @RI 2

Accounting Cycle 9=TeT & 95180 ?

3+3

3x4=12



